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QUESTION 1

Your client wants to create an efficient way of distributing costs to various accounts and minimize manual data entry.
One way of accomplishing this is to use model journal entries. Which statement best distinguishes a percent model
journal entry from other model journal entries? 

A. The document type should be percent for a percent model. 

B. It is designated as a percent JE in the explanation field. 

C. The document type is JE, but percent follows all the amounts. 

D. You cannot create percent model journal entries. 

E. The document type is JX. 

Correct Answer: C 

 

QUESTION 2

Your client needs assistance in setting up allocations for the company. 

When you review allocation journal entries, the allocations review displays only batches with the batch type_____; if you
make changes to the batch, the system updates the_____; and_____; tables. 

A. A, Batch Control, Account Ledger 

B. A, Account Ledger, Account Balance, 

C. G Account Ledger, Account Balance 

D. D, Batch Control, Account Ledger 

E. D, Account Ledger, Account Balance 

Correct Answer: D 

http://www.google.com/url?sa=tandsource=webandcd=1andsqi=2andved=0CBUQFjAAandurl=http%3
A%2F%2Fwww03.ibm.com%2Fsupport%2Ftechdocs%2Fatsmastr.nsf%2Fc6192fb3a432612485256d9700
82de57%2F2162ea39d64c0245862575fe004dd81d%2F%24FILE%2FPSFT%2520Enterpri
se%2520Benchmark%2520Summary% 252010128.pdfandei=kK5DTufsL8vVsgbm3ODICgandu
sg=AFQjCNFt_eP2-RpPFm9Dvk2nd90stEhg6A
http://www.google.com/url?sa=tandsource=webandcd=2andsqi=2andved=0CBkQFjABandurl=http%3A
%2F%2Fwww.oracle.com%2Ftechnetwork%2Fjava%2Fjavase%2Fdocumentation%2Finde
x-137483.htmlandei=kK5DTufsL8vVsgbm3ODICgandusg=AFQjCNHBkw7Q4CeGn3ouVDOIwsF K5T9N4g 

 

QUESTION 3

Your financial implementation client lead needs assistance on understanding the Detail Method of Intercompany
settlements. You explain that the Detail Method uses _______to track Intercompany settlements and the company
associated with the first journal entry line acts as the _________ for the transaction. 
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A. Subsidiaries, detail company 

B. Subledger, hub company 

C. Subledgers, consolidation company 

D. Subledgers, detail company 

E. Subsidiaries, hub company 

Correct Answer: B 

Explanation: download.oracle.com/docs/cd/B34956_01/current/acrobat/120xlaig.pdf 

 

QUESTION 4

When your client runs the Tax Summary Report (R0018P) for the first time and no data appears. You immediately check
the Tax Table (F0018) and find it empty. Which of the following has not been set up? 

A. The Tax Rules by Company program. 

B. The processing option In the Auto Payments Update program 

C. The processing option In the post program, to update the tax table 

D. The Tax Authority in the Address Book program. 

E. The Supplier Master program, to update the tax table 

Correct Answer: C 

Explanation: download.oracle.com/docs/cd/B31039_02/jded/.../e1_812are-b_0406.pdf 

 

QUESTION 5

Your client ran the "Companies in Balance" [R097001] integrity report and requires assistance in interpreting the report. 

What process do the Companies in Balance integrity perform? 

A. deletes batch header records with no detail records 

B. lists all companies and if an amount appears In a column, the company is out of balance 

C. locates batches posted out of balance 

D. ensures that the intercompany is In balance 

E. updates the batch status of a batch header record to D If the detail records in the Accounts Receivable Ledger,
Accounts Payable Ledger, and Account Ledger batches are posted, but the header record has an unposted status 

Correct Answer: B 

Explanation: download.oracle.com/docs/cd/B28733_01/.../e1_fms811aga-r1104.pdf 

1Z0-549 PDF Dumps | 1Z0-549 VCE Dumps | 1Z0-549 Braindumps                                3 / 4

https://www.passapply.com/1z0-549.html
https://www.passapply.com/1z0-549.html
https://www.passapply.com/1z0-549.html


https://www.passapply.com/1z0-549.html
2024 Latest passapply 1Z0-549 PDF and VCE dumps Download

1Z0-549 PDF Dumps 1Z0-549 VCE Dumps 1Z0-549 Braindumps

Powered by TCPDF (www.tcpdf.org)

1Z0-549 PDF Dumps | 1Z0-549 VCE Dumps | 1Z0-549 Braindumps                                4 / 4

https://www.passapply.com/1z0-549.html
https://www.passapply.com/1z0-549.html
https://www.passapply.com/1z0-549.html
http://www.tcpdf.org
https://www.passapply.com/1z0-549.html
https://www.passapply.com/1z0-549.html
https://www.passapply.com/1z0-549.html

